
Example

NB LimitB
AbsA x 2

´ H Sin@10 Log@xDD + 1LE + 1000000000 x

AbsA x 2
´ H Cos@10 Log@xDD + 1LE + 1000000000 x

, x ® ¥FF

LimitB
1. ´ 109 x + AbsAx 2 H1. + Sin @10. Log@x DDLE

1. ´ 109 x + AbsAx 2 H1. + Cos@10. Log@x DDLE
, x ® ¥ F

PlotB: AbsB x 2
´ H Sin@10 Log@xDD + 1LF + 1000000000 x,

AbsB x 2
´ H Cos@10 Log@xDD + 1LF + 1000000000 x> , 8x, 1, 1000000000<F

2 ´ 10 8 4 ´ 10 8 6 ´ 10 8 8 ´ 10 8 1 ´ 10 9

5.0 ´ 10 17

1.0 ´ 10 18

1.5 ´ 10 18

2.0 ´ 10 18

2.5 ´ 10 18

3.0 ´ 10 18

PlotB

TooltipB: AbsB x 2
´ H Sin@10 Log@xDD + 1LF + 1000000000 x, 1000000000 x, 2 x 1.96

+ 1000000000 x,

2 x 2
+ 1000000000 x, AbsB x 2

´ H Cos@10 Log@xDD + 1LF + 1000000000 x> F, 8x, 1, 1000000000<F
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LimitBJ AbsB x 2
´ H Sin@10 Log@xDD + 1LF + 1000000000 xN � H 1000000000 xL, 8x ® ¥<F

8Interval@80, ¥ <D<

Should be : 8Interval@81, ¥<D<

LimitBJ AbsB x 2
´ H Sin@10 Log@xDD + 1LF + 1000000000 xN � H 2 x ^ 2 + 1000000000 xL, 8x ® ¥<F

8Interval@80, 1<D<


